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Ex 3.2

Se we are “invertin " o ;W\ch'on
which  maps from AN o N,

But why not Jtnuo-l.ile?

Consider functions Srom any 79&&
tv any r'\nj.
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a5 called the Mobivs function.
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Really, +hiy i3 just \linear algebra.,
Returaing to  Crumple 2, lets
Consider metricey & yectors indexed
by subsets  of iS,G,HS. Ve
need +o pick a  giandard order
Let's choote

@ S, B, W, S8, SH, BN, SHH,
Then...

More 3ener-ﬂ~/, for anp poset P
the lac\dence olgebra T(P)
s 4he Set of oll matrices M

Indexed by \ements of P such
that M(%,Y) = O vnless xs€y.

We want ¢to invert
S b xsy
é Lx‘y) i 0 otherwise,

The iavese, A(x,y), is called
the Mobivs Function of P

While we ¢oUld uvse rowv oyuo(‘ion
(or So Mdrk‘w\j dee) 4o javert,
4here IS a  better way.
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The ?r'u\c'\pk of Mobius Tnaversion
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This shows +hat we can define
AL ‘mdw,tive\y.
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Otherwise, X <Y, S
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XSy
S0 we can recursindy define

m(x,y) = - ZM(*.!).
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Fiw on ordering on the vertices
of P PuCuroHJ. <¢his shevld
be o Llinear axtension.
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